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5 z & B z &t BEAAN | AEAN | B & 5 8 ] HEH
RFK 5,408 5,390 10,798 102 91 193 4775 92 51 5,510 5,481 10,991 4918
KEFEXINF 1,241 1,218 2,459 38 29 67 1,080 39 8 1,279 1,247 2,526 1,127
KFELEFE 572 577 1,149 1 458 1 2 574 578 1,152 461
KFFHE 396 381 777 0 4 4 324 0 4 396 385 781 328
XFHE 365 343 708 2 288 4 2 370 345 715 294
KFEH 344 362 706 7 3 10 324 6 4 351 365 716 334
KFELih 895 859 1,754 23 10 33 800 20 9 918 869 1,787 829
KF#AE 140 146 286 1 0 1 118 1 0 141 146 287 119
WHAEF1TH 282 267 549 2 2 4 235 1 0 284 269 553 236
WwH#AEF2TH 166 164 330 0 2 137 0 2 166 166 332 139
wH#EFITH 127 121 248 5 3 8 119 7 1 132 124 256 127
WHAEF4TH 675 687 1,362 13 21 34 502 16 8 688 708 1,396 526
WwHAESTH 294 292 586 0 1 1 242 0 1 294 293 587 243
WHAEF6TH 438 409 847 2 5 7 336 0 5 440 414 854 341
WPHAEFERER1ITH 51 45 96 0 0 0 37 0 0 51 45 96 37
WHAHEFRR2TH 275 253 528 4 3 7 188 3 2 279 256 535 193
WPHAEFERITH 417 393 810 4 3 7 302 4 3 421 396 817 309
WHAHEFRATH 1 0 1 0 0 0 1 0 0 1 0 1 1
H—TH 470 471 941 10 12 22 417 11 4 480 483 963 432
Hh=TH 620 589 1,209 5 12 17 504 7 4 625 601 1,226 515
BHf=TH 624 607 1,231 18 13 31 538 17 6 642 620 1,262 561
WEITE 146 145 291 5 1 6 99 3 151 146 297 105
WE2TH 108 94 202 0 1 1 89 0 1 108 95 203 920

14,055 13,813 27,868 246 219 465 11,913 232 120 14,301 14,032 28,333 12,265




